### **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 11 - Bishopton Bridge of Weir and Langbank
Valid Votes	6.565
Positions to be Filled	3
Quota	1,642

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Fiona AIRLIE-NICOLSON	Scottish National Party (SNP)	2,384
Mark DOUGAN	Scottish Conservative and Unionist	902
James MACLAREN	Scottish Conservative and Unionist	1,353
Colin Alan MCCULLOCH	Scottish Labour Party	1,534
Grant TOGHILL	Scottish Liberal Democrats	392
	Total	6,565

Candidate Fiona AIRLIE-NICOLSON Elected with 2,384 votes, being in excess of the quota of 1,642

#### **Transfers Report**

This report contains the transfers results.

742.00000

### Stage 2 - Surplus of Fiona AIRLIE-NICOLSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark DOUGAN	43	0.31124	13.38332
Transfer to James MACLAREN	91	0.31124	28.32284
Transfer to Colin Alan MCCULLOCH	923	0.31124	287.27452
Transfer to Grant TOGHILL	602	0.31124	187.36648
No further preference	725	0.31124	225.64900
Not transferred due to rounding			0.00384
	Total		742.00000

### **Transfers Report**

This report contains the transfers results.

## Stage 3 - Surplus of Colin Alan MCCULLOCH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark DOUGAN	126	0.09843	12.40218
Transfer to James MACLAREN	230	0.09843	22.63890
Transfer to Grant TOGHILL	797	0.09843	78.44871
Transfer to Mark DOUGAN	15	0.03063	0.45945
Transfer to James MACLAREN	33	0.03063	1.01079
Transfer to Grant TOGHILL	625	0.03063	19.14375
No further preference	381	0.09843	37.50183
No further preference	250	0.03063	7.65750
Not transferred due to rounding			0.01141
	Total		179.27452

#### 179.27452

### **Transfers Report**

This report contains the transfers results.

# Stage 4 - Exclusion of Grant TOGHILL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark DOUGAN	63	1.00000	63.00000
Transfer to James MACLAREN	122	1.00000	122.00000
Transfer to Mark DOUGAN	76	0.31124	23.65424
Transfer to James MACLAREN	90	0.31124	28.01160
Transfer to Mark DOUGAN	118	0.09843	11.61474
Transfer to James MACLAREN	167	0.09843	16.43781
Transfer to Mark DOUGAN	113	0.03063	3.46119
Transfer to James MACLAREN	70	0.03063	2.14410
No further preference	207	1.00000	207.00000
No further preference	436	0.31124	135.70064
No further preference	512	0.09843	50.39616
No further preference	442	0.03063	13.53846
Not transferred due to rounding			0.00000
	Total		676.95894

#### 676.95894

### **Transfers Report**

This report contains the transfers results.

### Stage 5 - Exclusion of Mark DOUGAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James MACLAREN	888	1.00000	888.00000
Transfer to James MACLAREN	96	0.31124	29.87904
Transfer to James MACLAREN	193	0.09843	18.99699
Transfer to James MACLAREN	118	0.03063	3.61434
No further preference	77	1.00000	77.00000
No further preference	23	0.31124	7.15852
No further preference	51	0.09843	5.01993
No further preference	10	0.03063	0.30630
Not transferred due to rounding			0.00000
	Total		1,029.97512

## 1,029.97512